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#include<bits/stdc++.h>
using namespace std;
const int N=2e4+5,M=2e5+5;
int head[N],nxt[M],to[M],tot,cnt;
int dfn[N],low[N];
bool flag[N];
void addedge(int u,int v
nxt | ++tot|/=head/u];
head u|=tot;
toltot|=v;

void Tarjan(int u,int fa
dfnlul=low/ u|=++cnt;
int child=0;
int i=head(u];i;i=nxt[i
int v=toli];
v==Ffa ;
Idfn|v
Tarjan(v,u);
low/ ul=min(low/ul,low|[v]);
child++;
low[v]>=dfn[u]&&u'=Ffa) flaglu]=1;/000000000000000
Oo0o0o0o0o000000o0oo0ogn

low/ul=min(low/ul,dfnlv]);
u==fa&&child>= flag ul=1;/00 00000000000 2

int main

int n,m;

scanf("%d %d",&n,&m);
int i=1;i<=m;i++
int x,y;
scanf("%d %d",&x,&y) ;
addedge(x,y);
addedge(y,Xx);

int i=1;i<=n;i++
ldfn[i]) Tarjan(i,i);

int ans=0;
int i=1;i<=n;i++
flag/ii!) ans++;
printf("%d\n",ans);
int i=1;i<=n;i++
flagli
printf("%sd ",i);
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